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log 3140'° = 10 log 3140
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= 10(log 3.14 + log 1000)
= 10(0.4969 + 3)

= 10 % 3.4969 = 34.969
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log x = 2.6044 = -2 + 0.6044 0| 2 &
log x* = 2log x

=2(-2+ 0.6044)

= —4+1.2088

= -3+ 0.2088
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@® 0.1959 @ 0.01959 @0.001959

@ 0.00292 ® 0.005364
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log 0.5361°

5.36
= 10(log5.36 — 1) = 10(0.7292 — 1)
= -2.708 = =3 + (1 -0.708)
=-340.292 = -3 + log 1.959

1
= log 1.
log 1000 + log 1.959

= 1log 0.001959
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11. 821 1og6.3<2 0.80°]1, a = log6300, logh = -1.204 ™,
a+ 1069 27

O 3.80 @ 4.04 ® 4.28 @ 4.32 @4.43
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a = log 6300 = log(1000 x 6.3) = 3 + log 6.3 = 3.80°] 1L
logh = -1.20 = -2 + 0.80 = log 0.01 + log 6.3
=1og0.063 °| 22 p = 0.063

Soa+10b = 3.80 + 0.63 = 4.43
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= 0.0333




O3 <H7]> 9 A2 F 11 &5 Fio] loghs 9] A FE}
22 A NG5 AotH? (=, log550 = 2.7404)
27]
@ log5.05 © 1log0.00055
1
log —— log(5.5 x 1010
© log £50 @ log(5.5x10™)
@ log5.5'

o1 @
B

® 3 @ 4 ® 5

log 550 2] A4~ 550 7}

et

2L 5o AR A% BEL log550 9] A4 HEI 2k,
Teb <H7]> F log 5507 44 $Eo] 2L AL 0,@9 2

250 AT 2d 2239 vjdo]

T T




14. 2 <H7|> F logA e} A FEO]
[e]

7]
@ 10logA © 10-1logA © log10A
@ (logA)-10 @ logf‘—0
® 6,0, ® 0,6, ®e.e.o
@ 9,0, ® 6,6,

o] Zoaul
2o] Hj o] gofoksim




15. x>0,y>0% A
gotofat.

i
=

<

N
9,
£
4
BN
)
filo
rlj
i
st
E=)
i
o
i
mjo
=2

@ logx2}log99 2] A4 Fw-2 At

© logy%tlog1001 & A4 HHE e Ty,

logx 9] 45 F23% logy o] &4 F&o] &= o, x: y& T

Bl 2 YERH?

D1:2 @ 1:3 @ 1:10

@)1 :100 ® 10:1
®
S5 \

log99 9] A4+ BEL 10|10, log1001 2] &4 REL 30|22
log x ¢} logy = E}E‘-"]’ 2,

logx=1+a,logy=3+a (0<a<1)

.. logy —logx =2

log2 =2, 2 =100, y = 100x
X X




16.

log;o 2 = 0.3010,log;, 3 = 0.4771 ¥ wf, 1230 & zta] 1719
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log;, 1239 = 301og(22 x 3)
= 30(21log; 2 + logyg 3)
= 30(2 x 0.3010 + 0.4771)
= 32.3730 = 32 + 0.3730
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20. [log1] + [log2] + [log3] + --- + [log2014] ©] 42?7 (&, [x] = x B}
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(i)1<n<10¥ =, 0<logn < 19|22 [logn] =0

(i) 10<n<100¥ ™, 1 < logn < 2°]BZ [logn] = 1

(iii) 100 <n < 1000 ¥ ™, 2 < logn < 30|22 [logn] = 2
(iv) 1000 < n < 10000 ¥ ™, 3 < logn < 4°]E2.2 [logn] = 3
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[log 1] 4 [log 2] + [log 3] + - - - + [log 2014]
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